SET
K: -4

BA.Eed [BI fé~ray

1280/ TF-JD/PP-M

Sl. No. :

Seal of Superintendent of Examination Centre

T FeAs MR

el gR el we 91 et wier-widz 39 ¥ § ww s
To be filled in by the Candidate using Black or Blue Ballpoint Pen only.

TR / Roll Number

IL-U 1 AR
(Sl. No. of Answer-Sheet)

aryon ; 3 9 ford g P e wme R E

HTTHEBITEE e eeeeeereeeaasnneees Declaration : I have read and understood the instructions given below.
(Signature of Invigilator) ORI TN GEIEC+.........ooooeeeesverareseerenmeesssses s esssesssenenens RAF 2o,
(Signature of Candidate) {Date)
EIEC D 1 USSR THETITBTAIT ¢ oecveeeeeriie e rieseeeeeesae st se e eessesses e senesaesaesnassrenreeas E: 12 OO
(Name of Invigilator) (Name of Candidate) (Time)
g # get ) wen—28 TH—2 T quid/Total Marks—100

Number of Pages in this Booklet-—28

Time—2 Hours

%@ IH/No. of Questions—100

'qﬁgrrﬁhﬁ % f%m ﬁﬁw INSTRUCTIONS TO CANDIDATES
. -gf@m e i aifem gy T ! 1. Immediately after getting the Booklet read the instructions

1. 5w o e & ey m carefully, mentioned on the front and back page of the
we g o | At oA onft e B e & w6 4 ‘Isé 1 @i | Question Booklet and do not open the seal given on the

5w Fe W fruffer Tt S ST, T B B right-hand side, unless asked by the Invigilator.

AT X TN L 2. Write your Roll No., Answer-Sheet No. in the specified
places given above and do your signature.

3. OMR :T‘T{"ﬁ & e st g o fee TEER L, ST I 3. Make all entries in the OMR Answer-Sheet as per the given
IR I & R sy instructions, otherwise Answer-Sheet will not be evaluated.

4. e @ & e ﬁﬁrﬂﬂ e fE W-E%Tﬂ o Tl I8 W 4. Afte;1 openinagi the s:al, e::sm-ef that the Questio:
e 5 Booklet contains total number of pages as mentione

3 fe o ¥ 7 vt w100 - g W t above and printing of all the 100 questions is proper. If
et oft srehre B gﬁ T W 15 Bz & st e W *I!a" any discrepancy is found, inform the Invigilator within
R adt wy-gieeRt Im S 15 minutes and get a correct Question Booklet.

5. WH TH %@ A -gfe ity ¥ 9 R e Reed § QA 5. For eatt;h qutestion in. t'l:e Q:,.xestiont Bfot?klet, (;'hoose'the

7 R correct/most appropriate option out of four options given
w&/w T F T m OMR ¥ # below the question as answer and darken the circle
T M A, N I A F o FE § WA @, Fa we q provided against that option in the OMR Answer- Sheet,
et gier-Tatge ¥ 4 9 bearing the same serial number of the question. Darken
the circle only with Black or Blue ballpoint pen.
. STt e IEd H qeiT

6. W W A A aw AR, Il Rl 6. Darken the circle of correct answer properly, otherwise
Eaud answers will not be evaluated.

7. 3@ WA-YfEET ¥ 100 wgfE v e e # aee wd Iw 7. There are 100 objective-type questions in this
%3 1 oiw smafza frar war B At wyT e §1 Question Booklet. 1 mark is allotted for each correct

answer. All questions are compulsory.

8 S @ fn smem 8. No negative marking will be done.

9. wHA-gfEE ag IW-u ¥ fffe wrt ® sfefeal w@ % afiles Do not write anything anywhere in the Question Booklet
F& oft T8 A fod) el OMR TWR-9F &I Wﬂﬂ a8 T and the Answer-Sheet except making entries in the
ST specified places, ohterwise OMR Answer-Sheet will not be

evaluated.

10. wha Wl ¥ I9A A1 FA VIS F H G OMR J-T fi&F | 10. When the examination is over, only OMR Answer Sheet
F g 2| IR-13 A T qia a0 v@-gEaw W o e is to be handed over to the invigilator before leaving the
SRCIE e examinaiton hall, while Question Booklet and carbon copy

of the Answer-Sheet can be retained by the candidate.

11. =@ 39\ Sﬁi A1 8 e ai g 11. This Question Booklet consists of the following five Parts :
q—I I AT F T Ho  1-30 Part—I : General Mental Eligibility Q. Nos.  1-30
si—II w1 T "o 31-50 Part—II : General Knowledge Q. Nos. 31-50
qrT—II1 fregor arfweRy W o 51-70 Part—III : Educational Interest Q. Nos. 51-70
MT—IV i 1%‘?1 T Ho  71-85 Part—IV : General Hindi Q. Nos. 71-85
TV S Ho 86100 Part—V : General English Q. Nos. 86-100

12. In case of any ambiguity in Hindi version, the English

12, af R v & i @ B, 9 AR g @yt @ e version shall be considered authentic.

/6-A






PART—I / «\vi—I
GENERAL MENTAL ELIGIBILITY / €= W& Jrgar

1. Which term will replace the question 1. HH-°1 € yFawEs M (?) *F WH W
mark? ‘ Y
Book : Critic :: Building : ? I ¢ HIER 1 W ;P
(A) Engineer (A) i
(B) Contractor (B) SR
(C) Weigher (C) e
(D) Appraiser (D) TS
2. Which number will replace the 2. HH-H G YEaEs E (?) F WH W
question mark? AT?
63 : 145 :: 48 : 7 63 : 145 :: 48 : ?
(A) 119 (B) 122 (A) 119 (B) 122
(C) 148 (D) 168 (C) 148 (D) 168
3. Find out the odd one. 3. faww 34w
(A) 30:45 (B) 24:36 (A) 30:45 (B) 24:36
(C) 48:78 (D) 42 :63 (C) 48:78 (D) 42:63
4. Find the next number. 4, SFTEN G A HL
13, 17, 19, 23, 29, 31, 37, ? 13, 17, 19, 23, 29, 31, 37, ?
(A) 39 (A) 39
(B) 41 (B) 41
(C) 43 (C) 43
(D) None of the above (D) Wﬁﬂ?ﬂ?qﬁ
5. Find the missing number. 5. ﬁ'@'{mmﬁl
556, 300, ?, 220, 216 556, 300, ?, 220, 216
(A) 200 (B) 224 (A) 200 (B) 224
(C) 236 (D) 248 (C) 236 (D) 248

SPACE FOR ROUGH WORK / % %M & fIg S8
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6. Find the wrong number in the given 6. & T At W T GEAT i A

series. 701, 348, 173, 85, 41, 19

701, 348, 173, 85, 41, 19
A) 173 B) 41
A) 173 B) 41

(C) 19 (D) 348
(C) 19 (D) 348

7. STTAT 9U1 JId i)
JK,M,O,P, S, S, __

7. Find the next letter.
J K, M,O,P S, S,

@ W e
(C) X € X
(D) None of the above (D) 3wy H @ HIg T
8. Find the next term. 8. 3T U I H|
AZ, DW, GT, JQ, __ AZ, DW, GT, JQ, ___
(A) MO (B) NM (A) MO (B) NM
(C) MN (D) LN (© MN (D) LN

9. Find th t in the gi ]
s;?ies iRl S - 9. & 7% vl # TeAd Ie FiE )

Z1A, X2D, V6G, T21J, RE7M, P44SP Z1A, X2D, V6G, T21J, R87M, P445P
(A) X2D (A) X2D
(B) T21J (B) T21J
(C) R87M (C) R87M
(D) P445P (D) P445P

SPACE FOR ROUGH WORK / W% %M & fu e
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10. A family has a man, his wife, their

11.

12.

5 sons and their wives. The family of
every son also has 3 sons and
1 daughter. Find out the total
number of male members in the
whole family.

A) 9
(B) 17
(C) 20

(D) 21

A, B, C, D, E, F and G are sitting
in a circle facing at the centre
and playing cards. E is neighbour of
A and D; G is not between F and C;
Fis to the immediate right of A, then
who are the neighbours of G?

(A) F and B
(B) D and E
(C) A and B
(D) D and C

Ramesh started from A moved

300 m straight towards east up to B.
Ram also started from A moved

400 m straight towards north

up to C. Dis exactly in the middle of

B and C. The distance between

B and D is

(A) 250 m

(B) 250v2 m

(C) 350 m

(D) None of the above

10. % fER # uF =Rk, IWH U], IH

11.

12.

5 94 Td ITht gfedl €1 TS 9o o IRaER
¥ 3 gmaal G oft 31 R afEr & g
T 6 P HEA A B

A) 9
B) 17
(C) 20
(D) 21
A, B, C, D, E, F 3R G T& JO&R W
T Fx Y AR gE = A3 T ol w1 ww
®EIE, AR D% @ §; G, F3ir

CcHRIT AL F, A% 3% W Fa1 3,
@ G o TPl B E7

(A) F3R B
(B) DR E
(C) AR B
(D) D3R C

T A ¥ I IRT Hd §¢ €9 @ H

AR 300m B d% oA e W A9

e IW I AR T TRY W 400 m C
% ST 81 D, B 3 C & dis weg # B
BIRDFfmfgh?

(A) 250 m
(B) 25042 m

(C) 350 m
(D) Sufe & & i T

1280/TF-JD/PP-M/6-A
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13.

14.

15.

Which of the following diagrams
represents the relationship between
Tiger, Animal, Carnivorous?

(A)

(B)

© &

\Y)

™ 00

In a certain code, ‘il be pee’ means
roses are blue, ‘sik hee’ means red
flowers and ‘pee mit hee’ means
flowers are vegetables, then how is
flowers are red’ written in that
code?

(A) sik pee hee

(B) sik pee mit

(C) sik be hee

(D) sik il pee

If JOSEPH is coded as FKOALD,
then GEORGE will be coded as

(A) CADMNO

(B) CAKNCA

(C) CAKNIT

(D) None of the above

13.

14.

i5.

Freifes @ FW-T M@ W, WX,
el % T GaY I0iar 87

e
" (©

(€

® Q)

Ife foret Tifvea @€ # 41 be pee’ @
HAdAd roses are blue, ‘sik hee’ &l
Taee red flowers 3R ‘pee mit hee’

%l Hacld flowers are vegetables g, @
flowers are red’ % I HE T A

foran smem?

(A) sik pee hee

(B) sik pee mit

(C) sik be hee

(D) sik il pee

Ife JOSEPH &I fRft e # FKOALD
forga &, @ 3 e § GEORGE &1 &
fore?

(A) CADMNO

(B) CAKNCA

(C) CAKNIT

(D) 39 & | Hig

SPACE FOR ROUGH WORK / 6 ¥H & fag s
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16.

17.

18.

19.

If in a certain language ENTRY is
written ‘as 12345 and STEADY is
written as 931785, then how is
ARREST written in that code?

(A) 744589 (B) 745194

(C) 744193 (D) 166479

How many triangles are there in the
following figure?

VAVAVAVAN

(B) 27
(D) 28

A) 25
(C) 26

How many squares are there in the
following figure?

A) 24
(C) 30

(B) 20
(D) 18

How many rectangles are there in
the following figure?

B) 7
(D) 6

16.

17.

18.

19.

gfe freft wikfass ww § ENTRY
12345 for@n wm@r 8 iR STEADY !
931785 fer@r wa1 8, @ ARREST

I} Tiokfae T # = foran smom?
(A) 744589 (B) 745194
(C) 744193 (D) 166479
A e gl § o By 77
(A) 25 (B) 27

(©) 26 (D) 28

A1 € SRt A foeen il @7
(&) 24 (B) 20

(C) 30 (D) 18

= & ¢ el # e s #7
(A) 9 B) 7

(C) 8 (D) 6

SPACE FOR ROUGH WORK / % %™ % foq g
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20. Find the missing number.
6| 2|14
7|4 |32
8 | 5|45
S | 7| 7?

(A) 52 (B) 53
(C) 76 (D) 70
21. Find the missing number.
2
36 | 81 | 169
(A) S (B) 4
€ 7 (D) 6
22. Find the missing number.
14|16|15| ? |
18 (16|12 |22
12(10| 8 |14
(A) 16 (B) 15
(C) 18 (D) 10

23. Find the missing letter.
B|G|N
D|J|R
G|N|?

(A) U (B) V
) w (D) X

20. fIqw wEn Ja =

14

32

45

Ol ||
Njor | AN

?

(A) 52
(C) 76

21. faqgw d@ 3@ W)

(B) 53
(D) 70

1

36 | 81

169

A) 5
(€ 7

22. faqw wEn 3@

(B) 4
(D) 6

14116 (15| ?

18|16|12|22

12(10| 8 |14

(A) 16
(C) 18

23. fagw =vf 3@

(B) 15
(D) 10

B |G

o

J

G| N

(A) U
C) W

B) V
(D) X

SPACE FOR ROUGH WORK / % %M % foTt s
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24.

25.

26.

27.

€ 2 €. 9

If ‘A’ means *~’, ‘B’ means “’, ‘C’
means 4+’ and ‘D’ means ‘x’, then
15B3C24A12D2 =7

(A) 34
B) 5
(C) —23%
(D) 2

If < and ‘<’ are interchanged
together with 3 and 6, which one of
the alternatives is correct?

(A) 6-3%x2=9
(B) 3-6x8=10
(C) 6x3-4=15
(D) 3x6-4=33
Insert proper arithmetical signs

between the figures in the following
equation.

7 __3)__2=20

(A) Bt
B) +,
€ x,
(D) _:-,

X

X

+

If3x6=18, 4x7=22 and 9x1=20,
then 5x2 =7

(A) 7
(B) 14
(C) 10
D) 3

24. AR AW ©, Bwaad @, O W

25.

26.

27.

w v oo D oW e o R, @
15B3C24A12D2 =?
(A) 34
®) 5
4
(C) =235

(D) 2

Ffe « 3R x’ g 3 R 6 H Age-weA
& S, @ Ry U Rered # @ Sa-w
g grm’?

(A) 6-3x2=9
(B) 3-6x8=10
(C) 6x3-4=15
(D) 3x6-4 =233

Fra for U iR # wEet % o9 w@d
i g @ |
(7 __ 3 __2=20
{A) - x
(B) +, x
(C) x, +
(D) =+, +

I 3x6=18, 4x7=22 3 9Ix1=20
B, A 5x2="7?

(Aa) 7
(B) 14
(C) 10
(D) 3

SPACE FOR ROUGH WORK / % %@ % oy g
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28. Three positions of the same dice are

29.

shown below. What number will
appear on the face opposite to the
face having number 2?

SplRles

(€ 3 (D) 4

Four positions of the same dice are
shown below. Which number will
appear on the face opposite to the
face having number 6?

SaEnaN

30.

A) 1 (B) 2

€ 3 (D) 4

Three positions of the same dice
are shown below. Find the number
opposite to  the face having

number 2.

P @ &

A) 1
(B) 4
(C) 5

(D) Cannot be determined

28.

29,

o T @ R f A ffeEt e T 2

& 2 & Hersh & fawlia vl W -6
ﬁwﬁl‘ﬂ?

A) 6 (B) 5

€ 3 (D) 4

IR = @ T8 6 9r Rt el w E)
&1 6 % el & faudla wah | hiA-H
& ghft? '

SRR

30.

A) 1 (B) 2

€ 3 (D) 4

IR = @ @ 6 i Dl e w© #)
&1 2 &% %oish & faudia weis | dH-Ht
e Brft?

A) 1

(B) 4

(€ 5

(D) 3 & o S wehal

SPACE FOR ROUGH WORK / % %M & fofu s7g
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31.

32.

33.

PART—II / wwi—II
GENERAL KNOWLEDGE / 9™ T
31. M F faven forw ad =ifta gem?

The Partition of

announced in

Bengal was

(A) 1885
(B) 1905
(C) 1908

(D) None of the above

Who is known as the ‘Father of

Renaissance’ in India?

(A) Swami Vivekananda
(B) Keshab Chandra Sen
(C) Raja Ram Mohan Roy

(D) Debendranath Tagore

Indian Civil Services

(A) make the Central Government
more powerful than the State
Government

(B) make the State Government

more powerful than the Central

Government

(C) has no effect on the powers of

the State/Central Government

(D) (A) or (B) depends on the

circumstances

32.

33.

(A) 1885
(B) 1905
(C) 1908

(D) 3w | | i€

Ra § ‘gt 1 foer’ foRd she Smar 27
(A) @ faaers

(B) I T W

(C) TSI THHIEA T

(D) TS SR

TRl dan

(A) FET TR B T WHA A e
MIT I C

(B) TST GGHRI H FT GR U H
vifeheTTell ST &

(C) 1 F5 GLHR/T TR H wlea
R B T T B

(D) (A) eET (B) witfefert w ek st
7

SPACE FOR ROUGH WORK / 1% &M & fau smg
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34. Equality of opportunity

35.

36.

in the
matters of public employment is
provided in which of the following
Articles of the Constitution of India?"

(A) Article 14
(B) Article 15
(C) Article 16

(D) None of the above

Which of the following is not a
function of the Supreme Court of
India under the Constitution of
India?

(A) It acts as the guardian of the

Fundamental rights

(B) It acts as the interpreter of the

Constitution of India

(C) It acts as the arbiter of legal
disputes between Union and

States

(D) None of the above

Under which of the Constitutional
Amendments of the Constitution of
India, the voting age for voting rights
was reduced from 21 years to
18 years?

(A) 61st Amendment
(B) 74th Amendment
(C) 93rd Amendment

(D) None of the above

34. W% USFIR &% AW | FHHAT o TG 6

35.

36.

IPW WA % WiauH % Form 7T § e
T RY

(A) TgT 14
(B) ¥g=se 15
(C) ¥T=T 16
(D) 35w & | ¢ T

frfafad § @ #9-91 WRa & &@HaE %
qed RAIE I=aH AT & F1 TE 27

(A) I8 M Sttt & Wi % §9 A
w1 TR

(B) I8 WG & wioym & o= (=)
¥ w9 #§ w1 e R |

(C) T8 TT qAT TSA & o % HEEN
foardl & foe weey (snfdR) 1 w6
xR

(D) 39w & ¥ i 7

d % Gfaum & fra dfoum e g1
de ¥ forg 9 3 F R ¥g oY W
21 99 @ w7 X 18 T¥ foram mn?

(A) 613 TENEA

(B) 74T €sleA

(C) 93af "wenEA

(D) I | | SIS T

SPACE FOR ROUGH WORK / 1% &” & fuu e

1280 /TF-JD/PP-M/6-A

12



37. What is the national flower of India?

38.

39.

40.

(A) Rose
(B) Lotus
(C) Sunflower

(D) Jasmine

As per Census 2011, the highest
literacy rate in India is

(A) 9391% in Kerala
(B) 93:91% in Tamil Nadu
(C) 89:31% in Kerala
(D) 89:31% in Tamil Nadu

The per capita income of India in
the financial year, 2017-18 has
registered a growth of

(A) 81%
(B) 7-1%
(C) 86%
(D) 7-6%

provision  for
financial year,

The  budgetary
education of the
2018-19 is about

(A) ¥80,000 crore
(B) £81,000 crore
(C) ¥83,000 crore
(D) ¥85,000 crore

37.

38.

39.

40.

TfaRaa & & wa &1 TP %o w0 27
(A) T
(B) ®aa
(C) e
(D) SrEfe

ST 2011 % IIFER, WRA W weQ
feres TaRar |

(A) 9391% & |
(B) 93-91% dfierg |
(C) 89:31% ¥ H
(D) 89-31% dafeHrg #

forflr e 2017-18 ® wra A wfy =ufe
3§ Fopaw wfoma <6t gfg g€?

(A) 81%
(B) 7-1%
(C) 86%
(D) 7-6%

e % o ety ad 2018-19 # w9
TEYH B, TN

(A) ¥80,000 Fg
(B) €81,000 g
(C) ¥83,000 g
(D) ¥85,000 FE

SPACE FOR ROUGH WORK / % %1 & fou s7e
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41. Which of the following is

not
GST rate for some slab?

(A) 5%
(B) 15%
(C) 18%

(D) 28%

42. The Scheduled Banks in India are

43.

those which are

(A) included in the 3rd Schedule of
the Reserve Bank of India Act,
1934

included in the 2nd Schedule of
the Reserve Bank of India Act,
1934

(B)

included in the 2nd Schedule of
the Constitution of India

©

(D) None of the above

Which of the following is correct?

(A) Maharashtra has the largest
reserve of manganese
(B) Odisha has the largest reserve

of manganese

Madhya Pradesh has the largest
reserve of manganese

(D) None of the above

41.

42.

43.

frefafag & & -1 o wHo Ho H
et = o foIg @ At 27

(A) 5%
(B) 15%
(C) 18%

(D) 28%

wra § aimfa S w0 g7

@A) St e e §% sfufem, 1934
& s 3 # st

B) S vRdE ford S arfufm, 1934
&1 arggen 2 # Ayl g

(C) S wra % wfwm  oggsh 2 F
At €

(D) 39 | @ H1E T

Freafafaa § & =0 W@t 27

(A) TETg & HTE W T WeR ®
(B) 3ifewm # HEA 1 Haw 991 WeR B
(C) wem Rw & HE B e g Ser

(D) SH & | #E T

1280/TF-JD/PP-M/6-A
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44. A person with blood group A can

45.

46.

47.

donate blood to a person having
blood group/groups

(A) A
(B) AB
(C) A and AB

(D) None of the above

Foot-and-mouth disease does not
affect which of the following?

(A) Swine
(B) Buffalo
(C) Sheep

(D) Horse

Which of the following is used as
malarial drug?

(A) Quinine
(B) Foxglove
(C) Rauwolfia

(D) None of the above

Which of the following places is not
known for shipbuilding?

(A) Cochin
(B) Vishakhapatnam
(C) Mazagon Docks

(D) None of the above

44.

45.

46.

47.

T Hfth S T 9gg A § 36 =fE @
Th §H € ThaT &, e o wqg B

(A) A
(B) AB
(C) AT AB

(D) 3w ¥ & g 7

F-Te-ARY W1 Fefafaa § @ B
e €T e &7

(A) ¥R
(B) %
(C) %
(D) =gt

fFrafafga # @ 768 wofen 6 T ¥ w9
o 3 R AT 27

(A) W

(B) WiewdE

(C) Taifepan

(D) 3wt & & i 7

Frafafaa & ¥ wm-d S8 e fmfa %
fore =t s STl R7

(A) e

(B) Tomm@mIe™

(C) WA STegw

(D) 3w & & 1 7

SPACE FOR ROUGH WORK / T %M % fou srrg
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48.

49.

e-Pathshala is a joint initiative of

(A) the Ministry of Human Resource
Development and NCERT

(B) the Ministry of Science and
Technology and NCERT

(C) NCERT and UGC

(D) None of the above

Integrated School System integrates
which of the following?

(A) Sarva Shiksha Abhiyan (SSA)

(B) Rashtriya Madhyamik Shiksha
Abhiyan (RMSA)

(C) Teacher Training Programme
(D) All of the above
Rashtriya—UYchehatar— Shiksha
Abhiyan (RUSA) was launched by
the Government of India in

(A) 2012

(B) 2013

(C) 2014

(D) None of the above

48. -USHe TH GIH UeA B

49.

50.

(A) wFE wEeR  fem wEeE e
To “{iﬁo éo Ho ﬁo T

@) fem @ W weR w
‘Q‘Jo'{ﬁoéoaﬂtof{oaﬂ

(C) o Ho $o 3o Fo T Fo o Hio
F1

(D) 3T & | IS T

o e wEimd e w8
(A) Td Ren AREA (TWo THo To)

B) W e e shEe
(3R WHo THo 'Q;o)?:ﬁ[

(C) Tveares giknew FRIHH H
(D) 37 wft

T IR Ren APEE (3o Jo THe Te)
YT TR N TorE o Wioey feman Tren?

(A) 2012
(B) 2013
(C) 2014

(D) S9g | @ FE T
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51.

52.

53.

PART—III / weT—III
EDUCATIONAL INTEREST / Tetur stfsrefr

What type of questions will you ask
the students during -classroom
teaching?

(A) Related to the lesson taught
earlier

(B) Related to the lesson being
taught

(C) Related to the  previous
knowledge of the students

(D) All of the above
Which one of the following should be
given importance by the teacher?

(A) Maintaining good relation with
the headmaster

(B) Teaching with dedication in the
classroom

(C) Being concerned about the

future of the students

(D) None of the above

Which of the following qualities of a
teacher is most appreciated by the
students?

(A) Impartial nature
(B) Panache
(C) Punctuality

(D) Discipline-loving nature

51.

52.

53.

HeT-T1gor & S 39 SE U FH TH
TEN?

(A) g YGIT 7T 9IS § WAl

(B) 39 U3 ¥ grafUd, S 3@ GHT UGMT
ST @R

(C) BE1 % W@ IH ¥ w=a
(D) 3T &t

e i T # 3§ R e S wnfe?
(A) TUFER ¥ 38 GERY ST

(B) el | THUr W | o e

(C) BT % wfesy =i s Faf<a @
(D) 39 & & HiE

o & fopm 7O A B wER S TER
A 37

(A) Treasran

(B) U«

(C) 9 6 u=dt
(D) TR
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54. The true evaluation of the abilities,

55.

56.

57.:

efforts and behaviour of a teacher
can be done by

(A) the headmaster
(B) his colleagues
(C) his students

(D) the experts

According to you, the objective of
education should be

(A) getting job  after taking
education
(B) the development of mental

ability of the students
(C) to make the students literate

(D) all-round development of the
students

Parents meeting day is most needed
in

(A) primary classes

(B) middle classes

(C) higher secondary classes

(D) colleges

If a teacher is not able to answer the
question of a pupil, he should

(A) say that he will answer after
consultation

(B) rebuke the pupil
(C) say that the question is wrong
(D) feel shy of ignorance

54. g 1 drgarsil, Ias W T R

55.

56.

57.

1 GE GeAihA fohaT ST |ehell ©
(A) ETET ST

(B) Iub AT g

(C) 3HF BEI W

(D) Tomiesti gra

3yeh Tom & g 1 3ew A =Ry
(A) e TR0 FA F 9] A

(B) BE S AHRFS Fraa 1 faww

(C) BT I FE FET

(D) BT 1 FEwior fohmE

st gomea fem 6 wew el
AT IS &

(A) i s §

(B) WAtk seatl |

(C) TR HILAMR HEFHA H

(D) welfeeerd |

Ifz g Rreres fre foemeff & 9@ 1 SW
@ 1 guef e B B, @ W

(A) ;%ﬂmmﬁﬁﬁa%m%mm

B) Tormefi =t wewre =TRRY
(C) e =iey & W T R

(D) o el ® i<l wegE B
=Ry
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58. The most tainted result of the

59.

60.

conflict between teachers is
(A) decrease in teaching time

(B) deteriorated behaviour of the

students

(C) the effect on co-curricular
activities

(D) the relation between head-

master and teachers getting
worse

If some of your pupils misbehave
with you in the school campus, you
must

(A) report to the Principal

(B) report to their parents

(C) improve their behaviour by your
own character and scholarship

(D) mobilize other teachers against
these pupils

If students are not able to follow,
you should

(A) give them prompt
(B) make the matter easy
(C) illustrate with examples

(D) All of the above

58. et & o vod w1 W@ gfm uiomm

59.

60.

qar 2

(A) e @ |

(B) BEI 1 e fortg S

(C) wrea-wgH! forard wvifora B

(D) TUWTEANS T SALAGHR H T
TS § S

e ok Fo foemefl frmew ot #
YA WE FIER A 8, 1 SATR

(A) TEFTER ®l ST iad w1 ARY

(B) 3% AMNIEH HI AT Frad HE
e

(C) ¥ wWa % A wd fogam ¥ Tk
FEER | I IR FHHT 1Y

(D) = fanfdal & frg o= w=nl =
AT IR HET MMRY

I foreneff o SgERer FA # oMy F,
aq ST

(A) I IT AT MY

(B) Tawereg # wt@ w1 =Ry
(C) 3T Afed T e =Y
(D) 3EF wf
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61.

62.

63.

If you come across to teach a blind
student along with normal students,
what type of behaviour you are
expected to exhibit?

(A) Take care of him with sympathy

(B) Do not give any extra attention
because majority of the
students may suffer

(C) Arrange the seat in front row
and try to keep your teaching

pace according to him without

making the other students
suffer
(D) None of the above
To improve the physical
environment of the classroom,

which one of the following should be
given importance?

(A) Control on air pollution
(B) Control on noise pollution
(C) Both of the above

(D) None of the above

Goleman is associated with which of
the following?

(A) Social intelligence
(B) Emotional intelligence
(C) Spiritual intelligence

(D) General intelligence

61.

62.

63.

Ife e gwmw faEnfiE % iy @
giedm frneff 1 ff weF W, @ s
T FFE YR o1 =EER WGkl & H
3T Bl

(A) TEafagEs SEht T@Te HET

B) e ot whR w1 wrfofer s A S
Fifs feriw e wwifm @
Fohd B

(€) ¥ Tl = wwif@ e fomn
g % dfF H 3@ B Kl EH
ST ek ST ATEY AT AT
$ 7ifer @ '

(D) 37 & | &S TG

e ¥ Nt FEEy W TR TH F
e = & @ o0 e fomn st =nfee?

(A) Ig-5EToT R

(B) af-ugau W =0

(C) ST <

(D) 30 & 1§ &

et e 3 & Beas w aafe 37
(a) R i

(B) Wil gha

(C) emenfees g

(D) "=
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64.

65.

66.

67.

Blackboard can be included in
which category of teaching aid?

(A) Audio aid
(B) Visual aid
(C) Audio-visual aid

(D) None of the above

The Father of Psychoanalysis is
(A) Ericson

(B) Jean Piaget

(C) Bruner

(D) Sigmund Freud

The longer a particular ability is
unused it becomes

(A) weaker
(B) stronger
(C) less important

(D) _more important

The Waldorf education approach
emphasizes a balanced development
of

(A) head and heart
(B) head and hands
(C) heart and hands

(D) head, heart and hands

64.

65.

66.

67.

Teror el & w9 # el @l Ry Soft
% =T SISl ST Gehdl &7

(A) =3 |

(B) 3 wrEdl

(C) w=-gxa wwft
(D) 39 & § g 7

HIforeeror 3 forar &

() TheEgE

(B) S+ fmrst

(C) IR

(D) e wre

ot T & &1 T @ WO d®
I T, T T8 T Sl
(A) FHSIR

(B) W

(C) H W=l

(D) sferes Hewl

qeers #1 e Iurm = °  fhus
Tgfera fyema SR e 27

(A) A T T

(B) Wiesh Td &1

(C) ¥ w T

(D) W&, T T T
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68. In success of learning which of the

69.

70.

following is considered as a main
factor?

(A} Punishment
(B) Rewards
(C) Strong will to achieve goal

(D) Being an officer

“Fluid mosaic model” of intelligence
was proposed by

(A) Cattell
(B) Thorndike
(C) Vernon

(D) Skinner

A slow learner needs
(A) extra help

(B) special help

(C) some help

(D) no help

68. ARFM H AheAl H Y&T HNE A H W

69.

70.

o W ST 27

(A) T

(B) F&=R

(C) Ty A vad g

(D) MR S

e w1 T AwE wew o
yfaatfea feram an?

(A) hedt
(B) wifers
(C) 9@H

(D) ferrt

w it T A hEd 9w TE B @
A) wrffs dgmEd 6

(B) Tor wgrEar H

(C) FS Tl R
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71.

72.

73.

74.

PART—IV / wm—IV
GENERAL HINDI / |1 2=t

frforfaa & oy =ow = R

(A) T

(B) A

(C)

(D) ®

‘o’ wIsg 1 Gi-faede w Ame

A) g+

(B) 3 +

C) &1+

(D) ST & & # T

freafafes o=l & @ qgwE T W WA
Hifs

(A) =2

(B) 34

(C) W™

(D) Tsm

fafafas 9K foredt § ugdl ¥ &
IR-=R el wes fiu e §) foRw farhew
T Uge! T8 o Rl el vrsg et €7
(A) W : 3y, 5, I, 3ga

(B) BT : Wi, T1T T AT, A1, T

C) fm : §d, o™t & wHk <@, @,
gt

(D) | : THA arar, e, s, o

75.

76.

77.

78.

Freafafaa ot & @ e R %1 @
fore AT o gom 27

(A) 3TMaS I A W AT

(B) 3G+ Ieh! 3R Y F @)

(C) o ¢fies A ™ HLar B

(D) # % & I% |

fFefafga ol & @ FR-w =oEYE

e i 87

(A) 3 gt forg =)

(B) grerdt st B

(C) T et qdt

(D) f%g@‘?léaﬁiﬁiW?@hﬁw
|

Frferiaa # @ HH-HY Tk wife T8 /7
(A) 3o Teft § o oft 9 B §

(B) 31 He ol frg s

(C) ¥PIA o i simet sweft

(D) g% G, sTer sa

e wd aeH di gft 4 Feafafea d @
AN, T HH-T 87

(A) e

(B) TR

(C) wgw

(D) dur-drer
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79.

80.

81.

82.

w3 TH (i) fran-fasier S %
wru frw frm-frg w1 v fomn St 87

frfafaa # gg a9 1 =9 HIRT
(A) F&il W RAA FF @ 2
(B) qH I8 1T T F G |
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B9 33T 2 |
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frefafeg & § SR-91 FHYE 99E H
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(A) T 1 FT@

(B) ¥ gl ¥d

(C) Ta & ¥a

(D) e 3T od

frafifeg § @ -0 T I TR B
T & 37

(A) HfR

(B) @3

(C) e

(D) wehH
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(A) ¥ gH A @ T 9@ et e
Y
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(A) FW

(B) Fefh
(C) ware
(D) e
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86.

87.

88.

PART—V / 9w —V
GENERAL ENGLISH / QWM 3l

Choose the sentences in which the
correct question tags are used.

() Few people knew the answer,
did they?

(ii) A few people knew the answer,
didn’t they?

Little progress has been made,

has it?

(iv) A little progress has been made,
hasn’t it?

(A) Only in (i) and (iii)

(B) Only in (ii) and (iv)

(C) In all of the above sentences

(D) None of the above sentences

“Her hobby is painting.”

In the above sentence, the word
‘painting’ is used as

(A) infinitive

(B) present participle

(C) gerund

(D) main verb

Choose the most appropriate
antonym for the word ‘adversary’.
(A) Acquaintance

(B) Friend

(C) Enemy

(D} Competitor

89.

90.

91.

Choose the most. appropriate
synonym for the word ‘miserable’.
(A) Cruel

(B) Wrong

(C) Unhappy
(D) Miser

Choose the correctly spelled word.
(A) Marvallous
(B) Marvellous
(C) Marvellus
(D) Marvelous
Rearrange the parts of sentence

labelled (i), (ii), (iii), (iv) to make
a correct sentence.

The social worker devoted
(i) to the upliftment

(ii) of the people

(iii) his entire life

(iv) of his village

(A) @), Gi), (i), (iv)

(B) (), (i), (@), @)

(€ (@), @), @), (i)

(D) (@), @), (i), (iv)
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92. Rearrange the parts of sentence

93.

labelled (i), (i), (ii), (iv) to make
a correct sentence.

() my religion is based on
(i) truth is my God
(iti) truth and non-violence

(iv) non-violence is the means of
realizing it

(A) (1), (i), @), (v)
B) (i), (@), (i), @)
(C) (), @), (), ()
(D) (iv), (i), (), @)
Rearrange the parts of sentence

labelled (i), (i), (iii), (iv), (v), (vi) to
make a correct sentence.

() the very first battle they fought
(ii) and they had to fall back

(ili) cross the border

(iv) was lost

(v) letting the enemy

(vi) and enter the country

(A) (vi), (iv), (i), (v), @), @)

B) @), (), @), (v), @), Vi)

(©) (vi), (i), (v), (@), (v), @)

(D) @, (), @), @), ), )

94. Rearrange the following phrases into

95.

a correct sentence.

() for the school

(ii) I was late

(iii) however

(iv) the class has not started
(A) @), @), @), @)

(B) (i), (), (i), @)

(©) @), @), (), (i)

(D) None of the above

Rearrange the following phrases into
a correct sentence.

() and the ice cream
(i) outside the house
(iii) it was very hot
(iv) melted completely
A) (), @), (i), @)
B) (iid), (), (v), @)
(C) (), i), @), @)

(D) None of the above
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Read the following passage carefully and
answer the questions (Q. Nos. 96 to 100)
that follow :

The achievement of science in the twentieth
century has been very great. Its influence
can be felt in every sphere of life. From the
small pins and needles to the huge iron
sheets and joints, most of the things we
require for our everyday use, come out of
factories where scientific principles are
utilized for practical ends. Science has
enabled man to bring forces of nature
under control and to use them for his own
advantage. It has brought the distant parts
of the world closer together. Remarkable
cures of human disease have been possible
owing to the discovery of some wonderful
medicines.

96. The author discusses the
development of science in the period
(A) 2001-2020
(B) 1901-1950
(C) 1901-2000
(D) None of the above

97. Which of the following is not true

about the development of science?
(A) Treatment of diseases

(B) Communication has brought

people closer
(C) Steel industry has got a boost
(D) None of the above

98. The main idea of the passage is

(A) the impact of science can be felt
in every sphere of life

(B) science is an anathema

(C) nothing is beyond the purview
of science

(D) science can work miracles

99. Science has proved a great boon for
(A) scientists
(B) artists

(C) explorers

(D) mankind

100. The most appropriate title for the
passage will be

(A) Science is a curse

(B) Science is a good servant but
bad master

(C) Science, a great boon

(D) None of the above
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